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Extended-Response Question 1b (Specialist Mathematics Examination 2) 
	

	
 
Question 4 (Mathematical Methods Examination 1) 
a.	 Pr(𝑋 > 6)	 = Pr )𝑍 > +,+

-
.	

	 	 	 = Pr(𝑍 > 0)	
	 	 	 = 0.5	
b.	 Pr(𝑋 > 7)	 = Pr(𝑋 < 5)	
	 	 	 = Pr )𝑍 < 4,+

-
.	

	 	 	 = Pr )𝑍 < −6
-
.	

	 ∴ 𝑏 = −6
-
	

 
Multiple-Choice Question 15 in Data Analysis (Further Mathematics Examination 1) 
	
2402 + 2456 + 4651 + 3456

4
= 3241.25

2456 + 4651 + 3456 + 2823
4

= 3346.5
?
3241.25 + 3346.5

2
= 3293.88	

B 
 
 
To order a full copy of these solutions please point your browser to 
http://russellboyle.com/orders.html 




